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|. Multiple choices.
1. [A] [B] [C]1 [D] 6. [A] [B] [C] [D]
2. [A] [B]1 [C] [D] 7. [A] [B]1 [C] [D]
3. [A]l [B] [C]1 LD] 8. [A] [B]1 [C] [D]
4. [A]l [B]1 [C]1 LD] 9. [A] [B] [C] [D]
5. [A]l [B] [C]1 LD] 10. [A] [B]1 [C] [D]
ll. Reading.
1. [A] [B]1 [C]1 LD]
2. [A] [B1 [C] [D]
3. [A]l [B] [C] LD1]
4. [A]l [B]1 [C]1 [D1]
5. [A]l [B] [C] [D]

ll. Identify rhetorical devices in the following sentences and make new
sentences with these rhetorical devices.
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IV. Paraphrase the following sentences.
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V. Translation.
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VI. Writing
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